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1. There are 31 children on a bus.
There are 5 adults on the bus.

How many people are on the bus?

oo
2. There are 22 students already at breakfast club.
6 students arrive at breakfast club.
How many students are there at breakfast club now?
20
3. Adebola has 32 shells in her suitcase.
She collects 7 more shells from the beach.
How many shells does Adebola have altogether now?
3o
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4. Michal has 43 bean poles.
He buys 6 more bean poles.

How many bean poles does Michal have now?

4. oL
5. There are 32 children in a bus.
There are 5 adults in the bus.
How many people in the bus?
T
6. There are 23 apples on the ground, which have fallen off an apple tree.
5 more apples fall off the tree on to the ground.
How many apples are on the ground now?
6. o
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